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1. An op-amp having a single-pole rolloff at 100Hz and a low-frequency gain of 105

Find fp{unit gain-bandwidth product.) of the Op-amp. : - { 20% )

2. For the Schmitt trigger circuit as shown, Assume Vigp = VDD/2. Determine the VP
‘“’.
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and ¥, of the circuit? { 20% )
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3. & photo~diode detector circuit as shown. If photo-current ig IP' Find output veltage
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4, Aan astable multivibrator as shown. If the Op-amp saturation voltage ba ¥opr Find the

frequency of oscillation, - ——0 Voo o (20%)
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5. The limiter circuit is shown. Find its transfer characteristic of the limiter
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